FEERATVITNIRIL

A o4+ ODBDG® FTE

J > et
HIDEDENS Vv IDREHCRE B Feature

o REBIET « AU EBRUISREEF1UT Py

>

~
—

ZUTRENILFF—TAKSS BIEECBNEUN—
TIVFE-TAK6ONBSHERVWVEITED,

o JNRIVINBBIFTIAIFA-160-A-24072E DV U —X
EHBEAH D E T, (A-464-F-1)

o FHAMER, 1\ RILO EIF T (CESL TLEDHE
AHIBCAO—TLFT,

o GREA-LHEA G - EEREREATT.)

© Choose a lock from either multi-key TAK55 with an
even greater number of disks and bolstered security, or
reversible key TAK60 with excellent ease-of-use.

® Installation is compatible with A-160 and A-240 etc.

v
’
2
HY
3
2
F
»
=]
1
3
25

‘ (A-464-F-1)
@ } e Lifting and lowering the handle moves the stopper plate JLEY
N back and forward because they are interlocked. The

\— tightening mechanism is incorporated. Oo—5—

® The right-hand or left-hand use. (drawings and photos 0
A-464-F-1-1-R-TAK60 are for the right-hand use) pU—
zeyNo.TAKSS zeyNo.TAK6O ot - ﬁﬁ’ﬁ?{ﬁ ZDC) NURIL
e XREAT L YFS0 bTOLDH>E(MZCr) T —H—

(H1) (H2) Ls L4 ‘ s o & S:TAK55-TAK60 #Z B

© BRRE : 0~2.3mm

- 11215 : . <
oft B &@: k& -BfIR-EX YL HE
[a]
F—2K Z g
H\ Bl - =5y 0 B EE- 5N &
;ﬁ BN - = aER BRI EECADET,) [O——
IEEI T [l e L EBDET, S0
! | ONYRYI—VRT L IEERE BE. F— @
| ! No.02006BEL £ T, s U7h
11 e o ‘ o VIUN—=AIVy IR EDERNBEM RS B/ VPV
|| 8= S/ A | HDET, =
‘ B s SN ‘ o GRZH-ZREAZ TEESLLSL,
we | A/ 0 CHNUAUEABRET5IECLD. REE
%D @s - , LF3TENTEET, SvFH
= y A-464-F-1+F-2:5mm(M5X16 SW, PW) ————
\ ) ‘ A-464-F-3 : 4mm (M5X14 SW, PW) 2FyF
N ¢ FWRBOIHSMNIAALR EHHLD
Ny %2 t=15|Ha EOTBAPIA DR ES RO LET, s
Packing S
15 ® Material: Zinc alloy (ZDC)
e ® Finish: Satellite chrome plating (MZCr) TvIT
INRILTRBAIT i | f_l\;]':j’llea ‘gh?d%a/; FORELM  Key No.: TAK5S5, TAK60
Panel drilling dimensions : eiie]g 5 @ Applicable panel thickness: 0~2.3mm D‘y?
| g ® Accessories: Stopper plate, installation plate, NYR
\ screws, two keys L &
B Selelajifed| @ Server rack, distribution boards, control NYRIL
‘\ No.TAK55 SOEEE i T m
‘ RENES @ Specify the left-hand or right-hand use. NURIL
‘ N> RIVEEHD ® |t can be adapted to a panel thickness by
K] ~ | Handle tuming center 20 replacing the screws. nE
5 ‘ L A-464-F-1+F-2: 5Smm (M5 X 16 SW, PW) I
‘ _ - A—‘464—F—3: Amm (M5 X 14 SW, PW). . Ry
oy @ |t is recommended that thread-locking fluid
| be used to prevent loosening of the mounting
! - screws for the catch. o
L 27 ] No.TAK60 -
s g L L || Lo | Ls Lo L | W00 | 00)| (9 || o) | MERRG) BRIEDE | 3-8 s Eg% e
(=] A-464-F-1-1-L-TAK55 ERER | TAK55(143(102| 28 | 72|20 (117{102{ 25|94 |30 | 21 |4.5| 3 480 |AC-25-E-2F[04932 SYP
VRS ERVNGIN @ | ZFRERA | TAK60 |143]102) 28 | 7220 (117|102{ 25|94 |30 | 21 (45| 3 480 |AC-25-E-2F[04318 %]
(] A-464-F-1-1-R-TAK55 GREM | TAKS5 [143]102| 28 | 72 (20 {117(102| 25| 94 |30 | 21 |4.5] 3 480 |AC-25-E-2F(04888
AR RSN G @ | GREA | TAK60 |143]102] 28 |72 |1 20 |117(102( 25|94 |30 | 21 |4.5] 3 480 |AC-25-E-2F(04074 v
(] A-464-F-2-1-L-TAK55 =RER | TAKS5 (122181 (22 (62| 15|96 |81 (2479 |30(18.5|4.2|2.5| 425 |AC-25-E-4F(04933
AR R BN VNGIN @ | ZRHSH | TAK60 (1221812262 15|96 (8124|179 |30(18.5|4.2|12.5| 425 |AC-25-E-4F(04319
(] A-464-F-2-1-R-TAK55 GREM | TAK55 (12218122162 |15(96 |81(24|79|30|18.5(4.2|2.5| 425 |AC-25-E-4F|04889
INITESERSING | @ | BRI=A | TAK60 122812262 [15|96(81|24 |79 |30 [18.5(4.2|2.5| 425 |AC-25-E-4F|04075
(] A-464-F-3-1-L-TAK55 RS | TAKS5 |89 |48 22|62 | 15|63 |48 24|50 |30(18.5/4.2|2.5| 380 |AC-25-E-4F(04934
AR EE R BNV GIN @ | ZRHEH | TAK60 |89 |48 22|62 |15|63 (48|24 |50 |30(18.5(4.2|12.5| 380 |AC-25-E-4F(04320
(] A-464-F-3-1-R-TAK55 GREM | TAKS5 (8948|2262 (15|63 |48|24|50|30|18.5(4.2|12.5| 380 |AC-25-E-4F|04890 2304**3
IR ERS NG| @ | BRI=A | TAK60 |89 |48 |22 |62 |15|63(48|24 |50 |30 [18.5(4.2/2.5| 380 |AC-25-E-4F|04076 TAKIGEN
@ :ROHST0IERXINGE A :RoHS10#ERICKINTIEETT, HARBQTEXFEICHRBDET. FUEHTS

273




